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BMI1 1.463 1.405
19.800 1.365 | 20.200 1.305]| 0.060 40.000
TP1 1.265 1.203
TP1 1.387 1.410
19.900 1.285| 15.800 1.330| -0.045 35.700
BM2 1.188 1.252
BM2 1.425 1.430
23.700 1.306 | 25.500 1.303 | 0.003 49.200
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BM3 1.393 1.430
20.300 1.293 | 23.000 1.315] -0.022 43.300
BM1 1.190 1.200
Y(18 AR FEERE) (7 AR FESRE) BE&A S(FEERE)
83.700 84.500 -0.004 168.200
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BM1 1.447 1.404
23.200 1.331 | 19.900 1.306 | 0.025 43.100
BM3 1.215 1.205
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25.700 1.310 | 23.800 1.3121 -0.002 49.500
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TPI’ 1.440 1.503
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BM1 1.240 1.301
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84.700 83.7 0.003 168.400
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0.015 75.700 0.020 75.800 0.0132 | 0.0132 | 0.0175 75.750
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BM?2
B3 0.003 49.200 0.002 49.500 0.0203 | 0.0202 | 0.0025 49.350
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BMI -0.022 43.300 -0.025 43.100 0.0231 | 0.0232 | -0.0235 | 43.200
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AR FEE fie gLt v kX P 100m
BM1 100.000
0.0175 | 75.7500 | 0.4501 0.0016 0.019 | 13.2013
BM2 100.019
BM2
0.0025 | 49.3500 | 0.2932 0.0010 0.004 | 20.2634
BM3 100.023
BM3
-0.0235 | 43.2000 | 0.2567 0.0009 -0.023 | 23.1481
BM1 100.000
FLEAW) Z(BE3) I(Ferdt)  S(v) RS W
-0.0035 168.3000  1.0000 0.0035 0.000
foBHE Y ¥4 0.0085
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BHEL 323 42(m)
BMI 100.000
BM2 100.019
BM3 100.023
BM1 100.000
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